aw
@ J 7T X(@ B3 W DU RSB

o

W44 H #1:
111 2 3 1 1
—_ — e X _- - - = —_—— e X m = - =
3 2.2 5 3 5 4 2
1 2 2 1
S+ xZ 8= S+IxI-_=
3t r5T8 355 5
11 3 1 1 1
-+t =X =4+ - = —+3— ==
1 27577 X 55373
13 1 1 3 1
2 3 273 051075
3 3 3 1 3 1 2
—_— —F — X — = -+ —— — X — =
3 4 22 34 33

www.snowmath.com


https://www.snowmath.com

o

e

N =

| W

e
Il

N =
AW
N =
N =

W =
AW
N W
[\SR OS]

YV AR B P AL
H -
7 301 1 1
= () S Ixo =
60 3 5 4 2 60
o1 1 1 2 2 1 2
= — = H— —_F - X - - =
5 15 355 5 75
4 ox g 1 142
5 2 3 3 3
3 17 3
0 g3 0=5=3713
15 1 3 1 2 3l
:__:1_ —+—_—X—:—‘
6 6 34 373 36

www.snowmath.com


https://www.snowmath.com

